School Board,

I am writing this document in reference to many things that needs to be discussed in the Athletic Department, Unfortunately I could not attend tonight's meeting I am speaking at the THSCA convention this week.

As you know we have hired a great Baseball coach with much knowledge of the game and the way a program should be set up. I recently sat down with Coach Lloyd to go over the program and he gave a list of Need's and Wants'. After going through the list with him and deciding what his Needs were I have submitted you a list of these items, some are hitting tools and some are safety issue equipment. We are in the process of trying to build a program and I feel these items are necessary to do that.

I have submitted bid on redoing the Baseball infield. If you are aware of our situation our Baseball infield is grass and needs to be removed and put in a dirt Infield. The field has many low and high spots that need to be addressed. I have gotten three bids for this project from the most expensive being 114,000.00 to redo everything bring in new grass and make it last forever to 25,000.00 to 14,300.00. I submit you this bid of 14,300 to please consider doing this. This is the bare minimum that can be done and make this a safe and playable surface. This is a capital investment you will not have to spend this money again. Coach Lloyd knows how to maintain a great playing surface and will take care of it from now on.

P.S. I understand this is a tight budget year and I promise you I have worked really hard to get the cost down.

Sincerely

Whitney Keeling

S & R Construction

JOB ESTIMATE

5688 FM 2625 E Marshall, Tx 75672 903-935-3313 phone

903-935-3328 fax

Waskom Baseball Field		
ITEMIZED ESTIMATE: TIME AND MATERIALS		AMOUNT
 Cut the grass out of the infield per specs Haul in select fill (infield dirt) Level out any ridges and humps on infield Blend in Turface that school has in building Cut drainage around batting cage Level out dirt mounds outside of field 	\$	14,300.00
TOTAL ESTIMATED JOB COST	\$	14,300.00
This is an estimate only, not a contract. This estimate is for completing the job described above, based on our evaluation.		
Steve Mathews		7/5/2016
PREPARED BY	ROBERT STONE STONE STONE	1/3/2010

2016-2017 Softball Wish List

		- or o - or o or other tribil Mi
Item	#	Est. Price
Needs List		
Sehutt Tees	4	20.00/each. 😢 🗀 👵
Travel Tees	3	8.99/each 2697
Dudley Game Balls	6 doz.	89.99 a dozen 539.94
Bats	2	300.00/each 600.00
Medince Balls	3	119.00/each 357.00
Agility Ladders	1	44.99 44 99
Agility Hurdles	1	49.99 44.99
Life Flight balls	1 doz.	29.95/doz 29.45
Tennis Balls	1 pack	95.00/pack 95000
Pancake Gloves	5	27.99/each 139.95
Baseballs	2 doz.	21.99/doz 4398
D-Bat	1	34.99/each 34.99
Buckets	4	23.99/each 95.96
Ball Basket	2	200.00/each 400.00
Schutt Strike Zone Pitching Plate	3	18.99/each. 54.97
Rubber Home plate	2	13.99/ each 27.98
Agility Stretch Bands	20	4.99/each 99.80
Grey Uniform (Varsity)	14	\$100/each 1420.00
Black Uniform (Varsity)	14	\$100/each)400.00
1 set uniforms (Junior High)	20	\$15 top 3 00.00
Practice pant-Varsity & JV	20	\$30/each 60000
Practice shirt-Varsity & JV	20	\$25.00/each 5 00-00
Practice short-Varsity & JV	20	\$30/each 600.00
Practice Shirt- Junior High	20	\$10/each 2 60 00
Practice Shorts-Jr. High	20	\$30/each 600.00
Practice Pants-Jr. High	20	\$30/each 600.00
Wrist Bands-Game Signals	30	\$10.00/each 3 co.co
Weighted Batting Gloves	2 sets	\$30.00/set 60.00
		Mary and the second of the sec

V-indicates a need before school starts. Total-3038.87

9278.47

Wants List

Apple Ipad		\$750.00		
Apple Laptop		\$1,500.00		
Agility Slide Board	1	\$485.99		
Pitching Machine	1	\$1,599.00		
Jugs Soft Toss Machine	1	324.99		
Schutt Slide Right	1	339		
Fungo Man Pitching Machine	1	\$10(\$15,000)		
Varsity Bat bags	20	\$60/each / 200		

20,859.98

2016-2017 Softball Wish List

		2010-201/ 50
Item	#	Est. Price
Needs List		
Schutt Tees	4	20.00/each.
Travel Tees	3	8.99/each
Dudley Game Balls	6 doz.	89.99 a dozen
Bats	2	300.00/each
Medince Balls	3	119.00/each
Agility Ladders	1	44.99
Agility Hurdles	1	49.99
Life Flight balls	1 doz.	29.95/doz
Tennis Balls	1 pack	95.00/pack
Pancake Gloves	5	27.99/each
Baseballs	2 doz.	21.99/doz
D-Bat	1	34.99/each
Buckets	4	23.99/each
Ball Basket	2	200.00/each
Schutt Strike Zone Pitching Plate	3	18.99/each.
Rubber Home plate	2	13.99/ each
Agility Stretch Bands	20	4.99/each
Grey Uniform (Varsity)	14	\$100/each
Black Uniform (Varsity)	14	\$100/each
1 set uniforms (Junior High)	20	\$15 top
Practice pant-Varsity & JV	20	\$30/each
Practice shirt-Varsity & JV	20	\$25.00/each
Practice short-Varsity & JV	20	\$30/each
Practice Shirt- Junior High	20	\$10/each
Practice Shorts-Jr. High	20	\$30/each
Practice Pants-Jr. High	20	\$30/each
Wrist Bands-Game Signals	30	\$10.00/each
Weighted Batting Gloves	2 sets	\$30.00/set

Wants List

Apple Ipad		\$750.00
Apple Laptop		\$1,500.00
Agility Slide Board	1	\$485.99
Pitching Machine	1	\$1,599.00
Jugs Soft Toss Machine	1	324.99
Schutt Slide Right	1	339
Fungo Man Pitching Machine	1	\$10-\$15,000
Varsity Bat bags	20	\$60/each



Din Hauf Fig. Beg. Jim Weaver@bsnsports.com (Physig 903-926-0561)

Sold to 1451452 WASKOM HIGH SCHOOL 980 School Ave WASKOM IX 75692 ISA

Ship To 1089953 WASKOM SCH DIST Coach Loyd 365 SCHOOL AVE WASKOM TX 75692-0748 USA

Order Summary

Cart # 20 9/34

Purchase Order # HOLD FOR PC Selections
Cart Name: 20 88 Pay powent
Order Date 18 18 18 18

Estimated Delivery 18 17 20 18

Payment Terms 18 18

Estimated Delivery

Ship Via Ordered By Darin Loyd

Payer 1089953 WASKOM SCH DIST 365 SCHOOL AVE WASKOM TX 75692-0748 USA

tem Description	Qty		Unit Price		Total
Baseball Hack Attack Jr Machine	man and the state of the state		2 145 12	- 5	-2-19-19 V
DIAMONDTURF BATTERS MATS 4X6	2 EA	3	149 99		299 98
BUNT ZONE MAJOR PROT/TRAINER-15X18X48	1 EA	\$	649.99		649 99
Professional L-Screen tem # - BSPROL	1 EA	\$	570.00	\$	570 00
Big Bubba Pro BackStop-Dk Grn	1 EA	S	3 999 99	\$	3 999 99
COACHES VIEWING PLATFORM	· EA	S	189 90	S	189 90
Pro Pitchers Platforms lem # - BSPROPLAT	- La Control		mente que paya haj desperação desperação de	ŝ	
HEAVY DUTY PLASTIC TRAINING BALLS WHITE	2 OZN	\$	3* 95	\$	6+90
BADEN ALL-WEATHER PRACTICE BSB em # - 1237221	3 DZN	5	41 95	ŝ	125 85
DIAMOND DOL-A NFHS BASEBALL /DZ	6 DZN	\$	47.10	\$	282.60
EASTON SOFTOUCH BALL 9" WHITE	₹4 EA	j.	3 65	S	87 50
5 GRIP BAT HLM JR BK JR em # 1385255	1 = 4	ŝ	(2.45)	5	47 15
5 GRIP BAT HLM SR BK SR em # 1385243	+ EA	ş	12 45 .	§	97.35
BOLCO 4-WAY PITCHER'S RUBBER-OFFICIAL	· EA	· · ·	74.95	5	14.45
OLCO 410-FG STEP DOWN PITCH RUBBER-OFF.	3 EA	S	59.95	3	179.85
ASTON MLF3 MAPLE 37" FUNGO BK/CLEAR	ĘΑ		46.95	· · ·	46 45

		Name and Address of the Owner, where the Park of the Owner, where the Owner, while the Owne
Subtotal	59 606 38 6	866851
Other	\$9 606 38 6	
Freight	\$95.59	
Sales Tax	\$0.00	
Order Total	\$9.701.97	
Payment Credit Applied	\$0.00	
Order Total:	\$9,701.97	